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1. A L BMO g sample of an iron ofe iz dizsclved in acid.  The iron is then reduced to
Fe't and titrated with 4722 mL of 002242 M KM, soluton.  Calculate the
results of this anaiysis h terms of (a) %% Fe (55847 gimol) ond (b) %6 Fe,0,
{23154 gimel).  The reaction of the analyte with the reagent iz deseribed by the
following equation: {11 459

Mn(y + SFe® + §H* — Mn™ + sk + 4HO

2. (1} Calenlate the pH of a solution tat s 9.200 M in NH; and 0300 B in NE,CL
Dissocirtion constant sf NHY i K, = 5,700 10, {15 43}
{2} Calenlate e pH change that cakes place when & [00 mL podion of (&} 0050
M MaOH and (&) 0.0500 & HCL iz added to 400 mE of the buffr solution that was
deseribed in (13, (15 59

3. Caiculzte ihe diszociation constant for the weak acid HP if the ceil
SCE || HP{O.010 M), NaP{o.040 ») | Pt Hy (100 atm)
develops a poterial of 0591 % (15 43

. (1) Explain “Standard-Addition Method™, (10 5)
(Z) A 200 mL wine specimen was treated with reagent to penerate a golorcd
adduct with phosphate, and the sample was then diluted to 100 mL.  Exactly 5.00
thl of a phosphete solution containing G.0300 mg pheephals!ml were added o 2
gecond 2,00 mE. sample, which weas teeated in the sams wey a5 the original sample.
The sbsorbance of the first sample was (428; that of the sceond was 0,538,
Caleulate the milligrams of phosphate per millimeter of the specimen. (5 43}

5. The following data are for a liguid chromatographic colunn:
Lengli: of packing: 15 o, Flow rale: &5 mbdeein, Fip f4d mE, Vo 018 mf.
A clrvmatogram of 8 mixture of species A B, and & provided the following

Jara:
Retettion Time, mie Width of Pegk Base (W), min
Moncetained 3.1 —
A 54 .41
B 13.3 .07
L 4.1 .16

Caicalate {z} mumber of plates from each peak, (k) the plate height for the column,
() the capaciry factor and partition coefficient for 4, B, znd C, (d} the resolulion
aitl the seleetivity factor for B and €, () e leagih of cofumn TNELESFAY b
g¢pacate B and C with a resolution of 1.8, {3047

261202-2




